(<
Il {Im Installation & Assembly Instructions

LB1-Kit, BKit, TKit - (2) 24” x 24” x 9/16” LocBoard®Pegboards, 46 Hooks

Read all instructions completely before installing. Should you have any questions about your installation,
please call Customer Service at 440-248-5480

Review Carton Contents: (2 Boxes Make Up This Kit)
2 Pcs. LocBoard Pegboard 24" x 24" x 9/16” (BKit= Blue, TKit=Tan)
46 Pcs. Assortment of LocHook® Pegboard Hooks

e Boards can be positioned side by side or in separate location in vertical or horizontal mounting
positions.

e Pegboards fasten directly to concrete, solid wood and hollow wall structures without the use of
furring strips.

e Pegboards are designed with internal mounting flanges that keep mounting hardware hidden from
sight and add to the board'’s structural integrity and holding power.

e Ifinstalling to bare studs you will need to install wood headers before completing installation.

LocBoard™ Installation:
For Concrete block installation: (mounting hardware not included.) You can use either masonry
screws or concrete plastic anchors with appropriate sized #8 screws. Head diameter of screw
should not exceed .36 (3/16” masonry screws will work.)
For Drywall and plaster installation: (mounting hardware not included.) Use either self-drilling
drywall anchors or normal heavy-duty plastic drywall anchors in addition to #8 screws.

1. (IMPORTANT!) Select wall location for your LocBoards and the desired vertical or horizontal
mounting pattern you wish to mount in. When selecting a location for mounting always make sure
that mounting locations do not fall in line with, are adjacent to or interfere with any internal or
external electrical wiring, wall mounted or built-in electrical appliances, heaters, gas lines, ductwork
or plumbing inside of wall, or are located on the opposite side of any wall surface from where you
are mounting. If you are unsure, please consult a professional before proceeding with installation.

2. There are three screw holes in each mounting flange on the back of your LocBoard that are
accessible through the square holes on the front (see images on back).

3. Place one LocBoard with mounting flanges flat against wall surface, while using a level to make sure
your board is straight and squared. Mark the centers of all 6 screw holes onto your wall surface.
Note: Installation for first board should be completed before marking mounting holes for the
second board.

4. Pre-drill holes for #8 wall anchors marked in Step 3 using 7/32" standard or masonry drill bit
depending on wall surface. If you hit a wood stud stop drilling and using a 7/64” drill bit create a
pilot hole for the wood screw, Note: avoid over-drilling holes. (Plastic wall anchors should fit snug.)

5. Insert plastic wall anchors in each hole drilled in Step 4 except where you drilled 7/64” pilot hole for
wood stud.

6. Align mounting holes in wall surface with screw holes in back flanges. Insert wood screws through
the front square opening and into pre-installed plastic wall anchors. Tighten all screws. The head of
each screw should not be visible and will be tight against inside surface of each mounting flange.

7. Repeat Steps 2-6 for second LocBoard installation.

Please contact our Customer Service Division with any questions at:
30700 D Carter Street - Solon, OH 44139 - (P) 440.248.5480 - support@tritonproducts.com

For a full line of products visit www.tritonproducts.com 1 iNBD2106



mailto:support@tritonproducts.com
http://www.tritonproducts.com/

TRITON

Vr
Installation & Assembly Instructions

PRODUCTS

Hook Installation: Insert the hook back locking tabs into front square openings of tool board.

Slide each hook securely into place and install required number of LocScrews (LocScrews are
supplied with each pack of LocHooks.)

Each LocHook has the unique capability of being securely mounted vertically and horizontally.
Panels must be securely fastened to sound wall structures to support heavy loads.

Mounting Instructions for LB1-Kit, BKit, and TKit

PLACE FLANGE
AGAINST WALL
SURFACE

ROUND MOUNTING HOLE
2 PL. PER BRACE

SEE NOTE IN FIG 1-1 PLASTIC WALL ANCHOR

#8 WOOD SCREW

FRONT SURFACE
OF BOARD

24.00
MOUNTING HOLES
Bﬁ FLANGE

J:L_J:\__{_Jl_ﬂ__l:\__ﬂ___ﬂ__D__ﬂ.__ﬂ__l:\__ﬂ__ O] S 3

0 O 0 g6 868 0 0 B 068 o g a o o

O o0 0 0 B 8 o 0/ B 0 0 I o o

0 0O 0 O 60 B O o0 B B 8 0 O &

0 0O 0O oo o o o o o o o o T o o

0 0O OO0 0O OO 0O 0O O oo o o o

a a a a a a a a =] a a a a [L m] ]

. FRONT
2400 a [m] o a a a a a =] a a a a a a SU RFACE
0O 0o ooo o o oo o o o o o o OF
BOARD

0 O 0o oo o o o o o o o o 4] o o

B 8 0O 0 0 8 0 080 80 B 0 O a8 I o B

O B 0 0 g 0 0 o O /8 0O 0 B | N

0o 0o o ooo o oo o o o o T o o

O B 8 O 80 8 8 O 0 3B 0 8 0 00 8

0 0O 0o oo o o o o o o o o o
U_—U__(_U_—D__U__U__ﬂ__ﬂ—_'ﬂ'_—ﬂ__I:I—_U_ S = B Jb

pe j N FLANGE
MOUNTING HOLES SECTION A-A

CUT AWAY VIEW

FIG. 1-1 THRU MOUNTING FLANGES

FRONT VEW
OF LocBoard

NOTE: USE (2) MOUNTING HOLES PER FLANGE,
(4) PLACES TOTAL

Please contact our Customer Service Division with any questions at:
30700 D Carter Street - Solon, OH 44139 - (P) 440.248.5480 - support@tritonproducts.com

For a full line of products visit www.tritonproducts.com 2

INLBD2106



mailto:support@tritonproducts.com
http://www.tritonproducts.com/

